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Explain the following :
(a) File type
(b) File operation
(c) File attributes

(31) BIgdd YBR
(@) BIga ATWRIA
(|) wrger o

9. What are semaphores ? Explain solution of producer
-Consumer problem using semaphore ?

JHATHIR T & ? AHTHIR BT SYIIT B
frrafar —Suvear 99T &1 gHEnE 94919 ?

OR (3121a1)

Explain three requirement that a solution to critical-
section problem must satisfy.

= sraTasans & wwsd Sl & sifae—
IHTNT AT T AHEH HdE S 9 |
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Time : 3Hrs. Sem II1 / CSE
Operating Sys.

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & uft ufg gl & SR <, IS U BT 99 635 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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OR (312rdr) (i)

Explain short term Schedular .
ard i fRisger &1 a9y |

5. Explain paging in brief.
4 (iii)

afSiT @t wftra 7 wsng |
OR (3121an)
Explain segmentation in brief.
_ (iii)
QS P Wl 4 qusig |

6. Discuss the services of operating system in brief.
4
ArRfeT feew & faft=1 afdiw <1 d@iéra

H g |

OR(37214T) (iv)

What are the two option of breaking deadlock ?

SSdi® &l disd & gl fddey I gusmv ?

3 1618305

=1 o | @9 A ufsparen @ fag
HaRI A d&fera aE 2

(@) siteY Har

(3) ¥ war

(W) fearsa dar

(?) 4IR HaAR

In a time-sharing operating system, when the
time slot given to a process is completed, the
process goes from the running state to the:-
(a) Blocked State

(b) Ready State

(c) Suspended State

(d) Terminated State

Udh GHI—HTST B dTefl fmfeT
feew o, 919 ufsear & fear T w9y
¥ic YT 8l Sdr & df gfhar are
Rerfad & aqerell B

(31) 3rawer Iawar

(d) IR 3razer

(\) frefaa smaven

(%) GuTWd 3rqern

A process control block (PCB) does not
contain which of the following.

(a) Code

(b) Stack

(c) Bootstrap Program

(d) Data
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(xx) A solution to the problem of external
fragmentation is :
(a) Large memory size
(b) Compaction
(c) Smaller memory size
(d) None

xx) dEY faEsqT & 99T &1 GHTE 8:
(31) <Y A9 |
(@) s
(¥) s A9 W9
(2) SWidd &g H T}

GROUPB

Answer all Five Questions. 4x5=20
wft ufg yeAl @ SR T |

2. What do you mean by cooperative process.

wegafl ufshar @ 3y w1 9Hsa ? |
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(vi)

(vii)

(vii)

(viii)

5 1618305
for=r & 9 I 9 @) 3averr A8 27
(1) =
() grr=T
(%) gavIR
(?) drd®R =T

The segment of code in which the process
may charge common variable, update, tables
write into file is known as:-

(a) Program

(b) Critical Section

(c) Non- Critical System

(d) Synchronizing

PIs T 4 e fod ufpar, I o=
9¢cl gddl 8, dIfldl ST &R ghdl
2, BIgell A forg gad) 2, & ded e
(31) ™

(@) fofera dAaaq

(|) Ara—fpfera daa+
(CRLEIRIFSR]

Conditions must be satisfied to solve the
critical section.

(a) Mutual Exclusion

(b) Progress

(c) Bounded wait

(d) All above
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(xvi)

(xvi)

(xvii)

(xvii)
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Which are of the following is dead lock
avoidance algorithm.

(a) Banker's algorithm

(b) Round-robin algorithm

(c) Elevator algorithm

(d) Karn's algorithm

fr=faRaa & 9 dI9—a1 Ssdfe <raq
& YnRewy 8 ?

(31) o

(@) wss wafeq

(W) uferdex

(]) Xr

To differentiate the many network services a
system supports ................. are used .

(a) Variables

(b) Sockets

(c) Ports

(d) Services names

@3 Acad AR Bl AT A B forg
Rreew wwefa 39 SualT fear <imar 2
(31) INRuae™

(@) dfdcH

(|) uids

(%) afds
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(xi)

(xi)
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AT B GareEl @ forg, yRuRe
fashR?

(31) 3maTIs 2

(@) & ArazIHar T2 2

(W) & "Har & A1 TS & ghdl 2
(?) SIiad & & g T

Virtual memory is normally implemented by-
(a) Demand paging

(b) Buses

(c) Virtualization

(d) All above

g 3rTel HART AR B9 o
&RT draffead &1 ot 2 |

(a1) fsur=s ufSiT

(q) <8

GEEEEIEENE]

(%) Swiaa g+

A page fault occurs when :

(a) A page gives inconsistant data

(b) A page cannot be accessed due to its
absence from memory

(c) A page is invisible

(d) All of above
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10. Describe necessary conditions for a deadlock

11.

situation to arise.

Ssdfe Reafa Sa=1 81 & fov smavas
Rerfaal &1 quier & |

OR(3721dT)

Explain different methods to recover deadlocks ?

Ssdl®d & AT & fav fafr=1 adier &)
AT BN |

Consider the reference stream 1, 2, 3,4, 2, 1, 5, 6, 2,
1,2,3,7,6,3,2,1,2,3, 6. How many page faults
which using FCFS and LRU using 2 frames ?

ded o’ R fdar @38 1,2,3,4,2,1,5,6,2, 6
1,2,3,7,6,3,2,1,2,3,6. foast 9w <19 81T
19 2 BH &I SYAIT & FCFS a2 LRU

BT SYIIT HRd 27

P.T.O
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10. Describe necessary conditions for a deadlock

situation to arise.

Ssdfe Reafad S 81 & fov amavas
Rerfaal &1 quier & |

OR(3721dT)

Explain different methods to recover deadlocks ?

Ssdl®d & AT & fav fafr=1 adier &)
ARAT DY |

. Consider the reference stream 1, 2, 3,4, 2, 1, 5, 6, 2,

1,2,3,7,6,3,2, 1,2, 3, 6. How many page faults
which using FCFS and LRU using 2 frames ?

dad o’ W) faar @38 1,2,3,4,2,1,5,6,2, 6
1,2,3,7,6,3,2,1,2,3,6. foast 9w <19 &I
19 2 BH &I SYAIT & FCFS a2 LRU

BT SYINT HRd 27
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